
 
 
 
 
 
 
 

Form 080/01  
 

Complimentary Reference Material 
 
 
This PDF has been made available as a complimentary service for you to assist in 
evaluating this model for your testing requirements. 
 
TMG offers a wide range of test equipment solutions, from renting short to long 
term, buying refurbished and purchasing new.  Financing options, such as 
Financial Rental, and Leasing are also available on application. 
 
TMG will assist if you are unsure whether this model will suit your requirements.   
 
Call TMG if you need to organise repair and/or calibrate your unit.  
 
If you click on the “Click-to-Call”  logo below, you can all us for FREE! 

 
 

 TMG Corporate Website                      TMG Products Website 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Disclaimer: 
All trademarks appearing within this PDF are trademarks of their respective owners. 

http://www.tmgtestequipment.com.au/
http://www.tmgtestequipment.com.au/
http://www.tmgtestequipment.com.au/products
http://www.tmgtestequipment.com.au/sales.htm
http://www.tmgtestequipment.com.au/rentals.htm
http://www.tmgtestequipment.com.au/calibration.htm
http://www.tmgtestequipment.com.au/repair.htm
http://www.tmgtestequipment.com.au/disposal.htm
http://c2c.ulterius.net/c2c/e28162292c15232e394a00c4351b660a/call
http://www.nata.asn.au/
http://www.aidn.com.au/
http://www.ncsi.com.au/


Instructions

K400 Series Accessory Kit

Cable Support and Mouse Shelf

070-9505-01

www.tektronix.com

������������
070950501



Copyright � Tektronix. All rights reserved.1

Assembly

To install the mouse shelf, you will use these parts:

� 1 mouse shelf

� 2 weld nuts

� 2 1/4 20 cap head screws, 1/2 inch length

� 2 1/4 inch tooth lockwashers

Attach the mouse shelf to the cart as follows:

1. Remove the end cap from the post.

2. Loosely install the hardware in the bracket as shown in Figure 1.

3. Slide the nuts into the post, set the bracket to the desired height,
and tighten the screws.

4. Replace the end cap as shown in Figure 2.



Assembly

K400 Series Accessory Kit Instructions 2

Figure 1: Installing the mouse shelf mounting hardware.



Assembly

3 K400 Series Accessory Kit Instructions

Mouse shelf
436-0317-00

Skyhook
(cable support)
384-1800-00

Figure 2: Replacing the end cap (K420 cart shown).



Assembly

K400 Series Accessory Kit Instructions 4

The skyhook (cable support) can be positioned on either side of the
cart. To install the skyhook, you will use these parts:

� 1 sleeve

� 1 adjustment knob

� 1 mount

� 2 weld nuts

� 2 1/4 20 cap head screws, 1/2 inch length

� 2 1/4 inch tooth lockwashers

� 2 bushings

� 2 grommets

Install the skyhook (cable support) as follows:

1. Press the two grommets into the large holes on either side of the
keyboard shelf.

2. Install the weld nuts, lockwashers and cap head screws on the
mount as shown in Figure 3. Leave each screw assembly loose;
do not screw the weld nut onto the cap head screw more than one
full turn.

3. Prepare the cable support (skyhook) by first pressing the bushings
into the holes in the top and bottom of the mount as shown in
Figure 3. Next place the sleeve on the inside of the mount and
align the sleeve with the openings in the top and bottom of the
mount. Slide the skyhook through the top of the mount and
through the sleeve. Now install the adjustment knob and tighten
lightly to secure the skyhook.

4. Slide the skyhook assembly slowly onto the cart, capturing the
weld nuts in the track. Position where desired and then tighten
with the 3/16 inch Allen Wrench.

5. Set the skyhook (cable support) to the desired height and tighten
the knob.

6. Replace the end cap(s).



Assembly

5 K400 Series Accessory Kit Instructions

Figure 3: Installing the skyhook (cable support) hardware (K4000 cart shown).



Warranty 15

Tektronix warrants that the product will be free from defects in materials and workmanship
for a period of one (1) year from the date of original purchase from an authorized
Tektronix distributor. If the product proves defective during this warranty period,
Tektronix, at its option, either will repair the defective product without charge for parts and
labor, or will provide a replacement in exchange for the defective product. Batteries are
excluded from this warranty. Parts, modules and replacement products used by Tektronix
for warranty work may be new or reconditioned to like new performance. All replaced
parts, modules and products become the property of Tektronix.

In order to obtain service under this warranty, Customer must notify Tektronix of the
defect before the expiration of the warranty period and make suitable arrangements for the
performance of service. Customer shall be responsible for packaging and shipping the
defective product to the service center designated by Tektronix, shipping charges prepaid,
and with a copy of customer proof of purchase. Tektronix shall pay for the return of the
product to Customer if the shipment is to a location within the country in which the
Tektronix service center is located. Customer shall be responsible for paying all shipping
charges, duties, taxes, and any other charges for products returned to any other locations.

This warranty shall not apply to any defect, failure or damage caused by improper use or
improper or inadequate maintenance and care. Tektronix shall not be obligated to furnish
service under this warranty a) to repair damage resulting from attempts by personnel other
than Tektronix representatives to install, repair or service the product; b) to repair damage
resulting from improper use or connection to incompatible equipment; c) to repair any
damage or malfunction caused by the use of non-Tektronix supplies; or d) to service a
product that has been modified or integrated with other products when the effect of such
modification or integration increases the time or difficulty of servicing the product.

THIS WARRANTY IS GIVEN BY TEKTRONIX WITH RESPECT TO THE
PRODUCT IN LIEU OF ANY OTHER WARRANTIES, EXPRESS OR IMPLIED.
TEKTRONIX AND ITS VENDORS DISCLAIM ANY IMPLIED WARRANTIES OF
MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE.
TEKTRONIX’ RESPONSIBILITY TO REPAIR OR REPLACE DEFECTIVE
PRODUCTS IS THE SOLE AND EXCLUSIVE REMEDY PROVIDED TO THE
CUSTOMER FOR BREACH OF THIS WARRANTY. TEKTRONIX AND ITS
VENDORS WILL NOT BE LIABLE FOR ANY INDIRECT, SPECIAL, INCIDENTAL,
OR CONSEQUENTIAL DAMAGES IRRESPECTIVE OF WHETHER TEKTRONIX
OR THE VENDOR HAS ADVANCE NOTICE OF THE POSSIBILITY OF SUCH
DAMAGES.





����������

����

��������	
��
��������������

� ����������

� �������

� �������� �!"#�$%&'�����()*+����

� ����()*",�-.�/ ����

01
��������	
��
����23
456789:�

1. ;<=>?)$"� �!��	@����

2. A���
B�CD
�&'�����ECF,�-.�/ �G

HI��
J�K
�	
����

3. ����;<L
M��GHI���NO��P9
Q��

��&'�RK���

4. A���
B�CD
�?)$"� �!�S�TU
�	
�

���



����

� ������	
��
���	����

������	
��
����



����

����������

����������	
�
�
��������	
���	���

������
����	��
�	���

������������
���� (K420���)



����

� ������	
��
���	����

�V(W�-��I�GX"YZ��	���01�[\>]
^�	


��_`abc����V(W�-��	
��
�������

�������

� �d�G����

� efgG����

� ��)�����

� �������

� �������� �!"#�$%&'�����()*+����

� ����()*",�-.�/ ����

� G�/)h����

� h,i������

�V(W�-��	
��
����23
456789:�

1. ��j�$����kl:mn=�oc:p
h,i������

��	
����

2. A�
�
B�CD
�����,�-.�/ �ECF� �

!"#�$%&'���)�
�	
����&'�q7RK

m
J�K
�6Ec����������rstuRKv:b7

89:�

3. A�
�
B�CD
�wx
G�/)h���)����!`j

�y�p
z�{|����
��d�G���)��}
~

n���)��u����b��ef������V(W�-

���)��u=>�H($9���d�G�}�M����

__befgG��	
���7RK6�V(W�-a�=v

:CD
����

4. �V(W�-"�Q)Gd�J57	`01
�56����

����
����()*����)*��56��v��b&'�

RK���

5. �V(W�-�NO��P9
Q����efgG�RK���

6. ?)$"� �!�S�TU
�	
����



����

����������

����������	
��
���

���
	����

����

���	

����



�	�����

�����

� !	

����	���� (!"#$�%&"')
���� (K4000���)



����

� ������	
��
���	����








